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ÍÛæ̃ Û¶ÛÛ : (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ …Û¸ÛéÅÛÛ …Û×ïõ¦øÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 

  (2) ¼ÛµÛÛ ›÷ ¸ÛÛ×̃ Û ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé. 

 

1. (…) ½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ ¾Ûæ¦øà ¸Û¦ø©ÛÁõ ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé. 10 
 (¼Û) …éïõ ï×õ¸Û¶Ûà 10%¶ÛÛ ` 100¶ÛÛé …éïõ …éÈÛÛ 5 ÈÛÌÛÙ¶Ûà ¾Ûäþù©Û¶ÛÛ× Ü¦ø¼Ûê˜ÛÁõ ` 96 ¶Ûà Ýïõ¾Û©Ûé ¼ÛÐüÛÁõ 

¸ÛÛ¦éø ™öé. Ü¦ø¼Ûê˜ÛÁõ þùà¥ø ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¶ÛÛé ”Û˜ÛÙ ` 2 ˜ÛæïõÈÛé ™öé. ›Ûé ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% ÐüÛéýÛ ©ÛÛé 
Ü¦ø¼Ûê˜ÛÁõ¶Ûà ïõÁõ ¼ÛÛþù ¾Ûæ¦øà ¸Û¦ø©ÛÁõ •Û¨ÛÛé. ›Ûé …Û Ü¦ø¼Ûê˜ÛÁõ ˆÜÁõÜ¦ø¾Ûé¼ÛÅÛ ÐüÛéýÛ ©ÛÛé ¾Ûæ¦øà ¸Û¦ø©ÛÁõ ÉÛä× 
…ÛÈÛé ?  10 

…¬ÛÈÛÛ 

 (…) “ÄõÜ§ø•Û©Û …Ü½Û•Û¾Û, ˜ÛÛé””Ûà …ÛÈÛïõ …Ü½Û•Û¾Û …¶Ûé ˜ÛÛé””Ûà ïõÛ¾Û•ÛàÁõà …ÛÈÛïõ …Ü½Û•Û¾Û¶ÛÛé 
ÈÛ˜ÛÅÛÛé …Ü½Û•Û¾Û ™öé.” ÍÛ¾Û›ÛÈÛÛé. 10 

 (¼Û) ÜÁõ¶ïäõ ÜÅÛ.¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà : 10 

ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà (` 100¶ÛÛé ÉÛéÁõ) ` 4,00,000 

…¶ÛÛ¾Û©Û …¶Ûé ÈÛµÛÛÁõÛé ` 2,00,000 

12% Ü¦ø¼Ûê˜ÛÍÛÙ ` 100¶ÛÛé …éïõ  ` 4,00,000 

ïõÛ¾Û•ÛàÁõà ¶ÛºõÛé (EBIT) ` 2,00,000 

  ˆÜîÈÛ¤øà ÉÛéÁõ¶ÛÛé ` 120 ÉÛéÁõ þùà¥ø …¶Ûé Ü¦ø¼Ûê˜ÛÁõ¶ÛÛé ` 90 Ü¦ø¼Ûê˜ÛÁ þùà¥ø ¼Û›ÛÁõ ½ÛÛÈÛ ™öé. …ÛÈÛïõ 
ÈÛéÁõÛ¶ÛÛé þùÁõ 40% ™öé.  

  (i) ÉÛéÁõ þùà¥ø ïõ¾ÛÛ¨Ûà (EPS) ÉÛä× ™öé ? 

  (ii) ï×õ¸Û¶Ûà ¾ÛÛ¤éø Ü¦ø¼Ûê˜ÛÍÛÙ ½Û×¦øÛéÇ …¶Ûé ˆÜîÈÛ¤øà ½Û×¦øÛéÇ¶Ûà ¾Ûæ¦øà ¸Û¦ø©ÛÁõ¶Ûà ¤øïõÛÈÛÛÁõà ÉÛä× ™öé ? 

 

2. (…) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×˜ÛÛÅÛïõ ©ÛÁõàïéõ ©Û¾Ûé ¶ÛÛ¨ÛÛïõàýÛ ÜÅÛÈÛÁéõ›÷¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛÁéõ ïõÁõÉÛÛé ? ŠþùÛÐüÁõ¨Û ÍÛÛ¬Ûé 
ÍÛ¾Û›ÛÈÛÛé.  10 

 (¼Û) ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ …×•Ûé¶ÛÛ ¾ÛÛéÜ¦ø•ÅÛàýÛÛ¶Ûà-Ü¾ÛÅÛÁõ …Ü½Û•Û¾Û¶Ûä× ¤øàïõÛ©¾Ûïõ ÈÛ¨ÛÙ¶Û ïõÁõÛé. 10 
           …¬ÛÈÛÛ 

 (…) ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ˜Û˜ÛÛë. 10 
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 (¼Û) Ü¶Û‘õà ÜÅÛ.¶Ûà ¾ÛÛÜÐü©Ûà : 10 
ïäõÅÛ Š©¸ÛÛþù¶Û¶ÛÛ …éïõ¾ÛÛé (ÍÛ×”ýÛÛ)  50,000 

ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ ` 80,000 

ÈýÛÛ›÷ ` 50,000 

ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 40% 

…éïõ¾Û þùà¥ø ÈÛé˜ÛÛ¨Û Ýïõ¾Û©Û  ` 40 

…éïõ¾Û þùà¥ø ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ` 30 

ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ÍÛ×”ýÛÛ  18,000 

  •Û¨Û©ÛÁõà ïõÁõÛé : 
  (1) ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷ 
  (2) ¶ÛÛ¨ÛÛïõàýÛ ÜÅÛÈÛÁéõ›÷ 
  (3) ÉÛéÁõ þùà¥ø ïõ¾ÛÛ¨Ûà (EPS) 
  (4) ÈýÛÛ› …¶Ûé ïõÁõÈÛéÁõÛ ¸ÛÐéüÅÛÛ¶ÛÛé ¶ÛºõÛé EBIT 
 
3. •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé.  20 
 (1) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ˜Û˜ÛÛë. 
 (2) ÁõÛéïõ¦ø ÍÛ×˜ÛÛÅÛ¶Û¶ÛÛ ÍÛÛµÛ¶Û (tool) ©ÛÁõàïéõ ÁõÛéïõ¦ø …×þùÛ›÷¸ÛªÛ¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
 (3) ˆÌ¤ø©Û¾Û ÉÛÛ”Û¶ÛàÜ©Û …é¤øÅÛé ÉÛä× ? ŠþùÛÁõ (liberal) …¶Ûé ïõ¦øïõ (strict) ÉÛÛ”Û ¶ÛàÜ©Û…Ûé ÈÛ˜˜Ûé¶ÛÛé 

©ÛºõÛÈÛ©Û …Û¸ÛÛé. 
 (4) ˆ¶ÈÛé¶¤øÁõà µÛÛÁõ¨Û ïõÁõÈÛÛ¶ÛÛ Ðéü©Ûä…Ûé ›÷¨ÛÛÈÛÛé. 
 
4. (…) Ü¦øÜÈÛ¦×ø¦ø Ü¶Û¨ÛÙýÛ ÅÛéÈÛÛ ¾ÛÛ¤éø ïõýÛÛ ÈýÛÈÛÐüÛÄõ ¸ÛóÊ¶ÛÛé µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛýÛ ™öé ? ÍÛ¾Û›ÛÈÛÛé.  10 
 (¼Û) ½ÛÛ¦øÛ ¸ÛaøÛ¶ÛÛ ÅÛÛ½ÛÛé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  10 
    …¬ÛÈÛÛ 

 (…) Ü¦øÜÈÛ¦×ø¦ø¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 10 
 (¼Û) ¶ÛÛ¨ÛÛïõàýÛ ¸ÛaøøÛé …¶Ûé ïõÛ¾Û•ÛàÁõà ¸ÛaøøÛé ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û 10 
 
5. •Û¾Ûé ©Ûé ¼Ûé ¸ÛÁ ¶ÛÛêµÛ ÅÛ”ÛÛé : 20 
 (1) •ÛÛé¦Ùø¶Û ¾ÛÛé¦øÅÛ 
 (2) ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û …×ïäõÉÛ¶Ûà ABC ¸Û±ùÜ©Û 
 (3) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛ ¸ÛóÛÜ¸©ÛÍ¬ÛÛ¶ÛÛé 
 (4) þéùÈÛÛ×¶Ûà ¸Û¦ø©ÛÁõ 

________ 
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Instructions :  (1) Figures to the right indicate marks. 

   (2) Answer all the five questions. 

 

1. (a) Explain in detail the weighted average cost of capital. 10 

 (b) A company issues 10% debentures of 5 years maturity. The face value of the 
debentures is ` 100 and its issue price is ` 96. The company pays ` 2 as floatation 
costs per debenture. If the tax rate is 50%, compute the after tax cost of debentures. 
What would be cost of these debentures if they are irredeemable ? 10 

OR 
 (a) “Traditional approach is an intermediate approach between the net income 

approach and net operating income approach” Explain. 10 

 (b) Following information of Rinku Ltd : 10 

Equity share capital (` 100 per 
share) 

` 4,00,000 

Reserve and surplus ` 2,00,000 

12% Debentures of ` 100 each ` 4,00,000 

Operating profits (EBIT) ` 2,00,000 

  The market price of equity share is ` 120 per share and debenture is ` 90 per 
debenture. Income-tax rate is 40% Find out 

  (i) What is the earning per share (EPS) ? 

  (ii) What is the percentage cost of capital to company for the debenture funds and 
equity funds ? 

 

2. (a) As a Financial Manager, when you will use Financial Leverage ? Explain with 
illustration.  10 

 (b) Describe critically Modigliani-Miller approach to capital structure. 10 

OR 
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 (a) Discuss factors affecting capital structure. 10 

 (b) Information of Nikki Ltd. : 10 
Total production in units (nos.) 50,000 

Fixed cost ` 80,000 
Interest ` 50,000 
Tax rate 40% 

Selling price per unit ` 40 
Variable cost per unit ` 30 
Number of equity shares 18,000 

  Calculate : 
  (i) Operating Leverage 

  (ii) Financial Leverage. 

  (iii) EPS 

  (iv) EBIT 

 
3. Attempt any two :  20 
 (i) Discuss factors affecting working capital. 
 (ii) Discuss the utility of cash budget as a tool of cash management. 
 (iii) What is optimum credit policy ? Distinguish between liberal and strict credit 

policies. 
 (iv) Describe objective of maintaining inventory. 
 
4. (a) Which practical problems have to be considered in making dividend decision ? 

Explain.   10 
 (b) Explain the benefits and limitations of Leasing. 10 
                  OR 
 (a) Explain the kinds of dividend. 10 
 (b) Distinguish between Financial Lease and Operating Lease. 10 
 
5. Write notes on any two :  20 
 (i) Gordon model 
 (ii) ABC method of inventory control 
 (iii) Sources of working capital 
 (iv) Cost of Debts 

_________ 
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